Logic Test #3 Answers

Spring 2000

Symbolizations

1. Jb & (Tba ( Sa)

2. (x(Jx & (Txa & Txb))

3. (x(Jx & Lx ( ~Bxd)

~(x((Jx & Lx) & Bxd)

4. (x(Jx ( (Sx ( Lx))

(x(Jx & Sx ( Lx)

(x(Jx ( (~Lx ( ~Sx))

5. (x(Jx & Bdx) & (x(Jx & Lx ( ~Bdx)

6. (x(Jx & Tbx ( (y(Jy & ~Tby ( Bxy))

Derivations

1. (x(Fx ( ~Gx), ~(xJx, (x(Gx ( ~Jx) |- ~(xFx

1
(1) (x(Fx ( ~Gx)
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A
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(5) Fa ( ~Ga
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2. (x(Fx & Gx) ( (xHx |- (zFz ( (y(Gy ( Hy)
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A

2
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(3) Ga
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3. (y(Fy ( (z(Gz ( ~Jy)), (x(Hx ( Jx) |- (x(Hx & Fx ( ~Gx)

1

(1) (y(Fy ( (z(Gz ( ~Jy))

A

2

(2) (x(Hx ( Jx)


A

3

(3) Ha & Fa
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(4) Ha
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(13) (x(Hx & Fx ( ~Gx)
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4. ~(xLx ( ~(xKx, (x(~Kx ( Fx) |- (x(Fx ( Lx)
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(1) ~(xLx ( ~(xKx
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5. (x(Fx ( (y(Jy & My)) |- (x(Jx ( ~Mx) ( (y~Fy
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(1) (x(Fx ( (y(Jy & My))
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A [for RAA]
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(6) Jb & Mb
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